HONG KONG ATTAINMENT TEST
B asR

Mathematics BE2

Primary 6 754K
Mock Paper of the Latest Question Types
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Time allowed for the test: 50 minutes
PlEEPER D50 4 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
2. Answer ALL questions.
3. Write your answers on the answer sheet.
4. Write your name, class and class number on the answer sheet.
5. You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.
6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.

1. After rounding off 94 998 586 to
one of the following places, the
approximate value may never be
95 000 000. What is that place?

A. millions

B. hundred thousands
C. ten thousands

D. thousands

1. 4294 998 586B~:7 i & 3 11T

o - B, 27 Ed

95000 000 © 3% = H_*+ /& ?

A FH =
B. L& i~
C.g~
D. + =

2. There are four dozen in a box of
greeting cards. Each greeting card
costs $15. If Ms Chu wants to buy 16
boxes of greeting cards, how much
should she pay?

A. $11 520
B. $2880
C. $768

D. $240

.- gty o RREHE
$15 ¢ 4o% 4| 4 B F 164 T+
WEH SS9

A. $11 520
B. $2880
C. $768

D. $240




3. It took 32 seconds to delete 480 3. M",ért 4801 = =+ * 7 324) o 4k

files. How many seconds would it AR e g B Ij% 4201 = % >
take to delete 420 files at the same £ 5049
speed?

A. 18 seconds A. 18%)

B. 26 seconds B.26%)

C. 27 seconds C.27%)

D. 28 seconds D.28%)

4. One of the following numbershasa | 4. 2 T » BF#HcY » H ¢ — 7]
different number of factors than the BB el 4 = Bl R oo 3

other three numbers. What is the 4 Fllickp 4 B R 25 9
result of adding up all the factors of

that number?

16 21 26 34
A. 31 A. 31
B. 32 B. 32
C. 42 C. 42
D. 54 D. 54

5. The number on the card is a common 5. %3 + 1+ endeH 4040602 F)

factor of 40 and 60. It’s also a o » 44010 B U T
common multiple of 4 and 10. Which FR— J5V 5 A BcF i ?

of the following may be the number
on the card?

A. 10 A. 10
B. 20 B. 20
C. 40 C. 40
D. 60 D. 60




6. Miss Wong had 42 eqgg tarts
originally. She ate 6 egg tarts and

gave 14 egg tarts to her friends. What

was the fraction of the remaining
number of egg tarts to the original

number of egg tarts?

A.

B.

||I:\1I07w|r\>

21

21

6.1 4Rt 4213 33 > bl 6B
P X R 1AR R L R o
T RO EERT PSS 2
A% 0
7l

||l: ~NOoO WwWIN

21

21

7. There were 140L of juice. If every
gL of juice is poured into a bottle,
how many bottles of juice can be
poured at most?
A. 84
B. 222
C. 233

D. 234

.3
7.7 140L % i+ o 3 &L %

s - R ST RS
S D

A. 84

B. 222
C. 233
D. 234




8. The tens digit and thousandths digit
of a number are ‘2” and ‘6’
respectively. Which of the following
may be this number?
A. 64.442
B. 24.446
C. 244.4446

D. 42.446

8. - Bt iEcfeF o A
B 24060 1T VRIE T 5y A
& 0 K ?

A. 64.442
B. 24.446
C. 244.4446
D. 42.446

9. Amy saved $200 to her bank card.
Then she paid $153.6 with her bank
card in a store. The remaining value
in her bank card was $62.8. What
was the remaining value in Amy’s

bank card before it was saved?
A. $16.4
B. $46.4
C. $109.2
D. $137.2

9. 5t dide $200E % T 427+ 15 > A
PR 4T+ 4 5$153.6 0 4 ch
#1717+ A 3E 5.$62.8 o Tedi i

A ARELTG AR

A. $16.4
B. $46.4

C. $109.2
D. $137.2




10. Jack wants to buy a box of model 10, 4R 560 PF X & LY - £
A E > & EHAID G AN e ek

FEEA B 893260 4 X FH 5

cars for each of his 6 friends. If
there are 4 model cars in each box

and the price of each model car is b9
$32.6, how much should he pay in
total?
A. $782.4 A. $782.4
B. $770.4 B. $770.4
C. $680.4 C. $680.4
D. $130.4 D. $130.4
Parcel
-y P Q R S
Weight 3 9 13
£ g 1zkg gkg 1.79kg gkg

11. According to the above table,

_ : ‘ 1.9+ £ > it e REE 7
which parcel is the heaviest?

A.P A.P
B.Q B.Q
C.R C.R
D.S D.S




12. There were 400 plastic boxes
originally. 160 plastic boxes were

1 ..
used last week, 3 of the remaining

plastic boxes were used this week.
What was the percentage of the
plastic boxes used this week to the

original?

A. 60%
B. 40%
C.12.5%
D. 7.5%

12. i $ 400" & - + 28 * 3
1601 » 5 BEY* T4

1
g e s BAHT I AL R

§ AL

A. 60%
B. 40%
C.12.5%
D. 7.5%

R

13. Which of the following shapes can
be formed by using all the above

figures?

. triangle
I1. parallelogram

I11. rho mbus

A.land Il only

B. I and Il only
C. Il and I11 only
D. I, Il and 1l

13. % 2} ’:"—i—”};‘ B35 ¥ Mg AT
L ) 2

.= &35
I, T 7w 83

. 25

A FF 100
B. =4 121l
C. 5% 1z
D.1~11 2 1l




14. In the above figure, EM is a line

segment passing through all the
centres of the circles. If the
diameter of each circle is 6¢cm,
what is the length of EM?

14. * Bl® > EME - % E”Lr;a Eﬂ
m%ﬁ{.ﬁ;\o-kr%aau}rﬁ]ma 4;,_,;
6cm > EMenE B & 3 4 9

15.

A. 42cm A. 42cm
B. 36cm B. 36cm
C. 30cm C. 30cm
D. 24cm D. 24cm
Figure 1 Figure 2
Bl - )

Figure 1 is an equilateral triangle.
Figure 2 is formed by an equilateral
triangle and two rhombuses of the
same size. They are both shapes
having axial symmetry. How many
axes of symmetry do they have?

Figure 1 Figure 2
A. 1 1
B. 3 1
C. 1 3
D. 3 3

15. 8- - BEf= 425 Bl=-d -
BEE= £4cd B | Apk
E A o v R AR
T EALR i

”O




16. The above pentagonal prism is
formed by 15 sticks of the same
length and 10 plastic beads. This
pentagonal prism is restructured to
form three triangular prisms.

How many extra sticks and plastic
beads are needed at least?

A. 4 sticks and 4 plastic beads

B. 8 sticks and 12 plastic beads
C. 12 sticks and 8 plastic beads
D. 12 sticks and 2 plastic beads

16. F BT & 41d 154k R AP FF D
HEZIORMIRES o iiBT
b adrE ez Bz 41 &

S MU T AR T 2

A 44§ 2 ARk
B.8 4+ & % 128 M3k
C. 124+ § % 8 %3k
D. 124+ & 2 23k

Area F
Fg ~

Area M
X
M %

Area G
GE

& Are'il_ N
N %
Area P
P

Area Q
“0%

17. The above figure is the layout of the
Z0oo. Area F is to the southwest
of Area N. Which of the following is
to the east of Area P?

A. Area M
B. AreaN
C.Area G
D. Area Q

17. 2 Y B & d ek Bl F% 2N%
g g S 0 U TERIE AP N i

9

A M%
B.N%
C.G%
D.Q%

10



8cm

18. A new figure can be formed by using
the above 6 squares of the same size
together. What is the shortest
perimeter of the new figure?

A.112cm
B. 96cm
C. 80cm
D. 72cm

18. % 12 1 61 % | F4p b ek = 3
B & - AR o #TRA)

¥R EE s 7

A.112cm
B. 96cm
C. 80cm
D. 72cm

19. According to the above figure,
which of the following descriptions
is / are correct?

I. Zeis an acute angle.
I1. The size of £g is smaller than
that of L VXY.
1. Zhis areflex angle.

A.lonly
B. I and Il only
C. Il and I11 only
D. 1, Iland I

Y

19. 1345+ B > T 5| oRIF (4t Fy it A
Y ¥zl
. L/ed - B4k o
. £g shk Bt LVXY ] o
. /h& - BF & o

A 5

B. %% 1%l
C.x % Hz1I
D.1~11Z 1l

11



H 18cm
. K
) 30cm "

20. In the above figure, H and K are two 20. F B¢ > HirKE A B < | 7 F
squares of different sizes. What is the At A5 e Leng fF A% 0 9
areaof L ?

A. 72cm? A. 72cm?
B. 144cm? B. 144cm?
C. 324cm? C. 324cm?
D. 540cm? D. 540cm?
: [ ] 32cm
10cm
) 32cm ]
21. The above figure is formed by 4 21. FRId 41 < ] ek Ap e ez
triangles of the same size and same A5 > v FFAS Y

shape, what is its area?

A. 80cm? A. 80cm?

B. 160cm? B. 160cm?
C. 320cm? C. 320cm?
D. 512cm? D. 512cm?

B AT 5 (] 6) 12



22. In the above figure, X, Y and Z are 22. FBlY o X~ Y feZE Rl o 2R
centres. What is the area of the WA RSBk 2)

22 7

shaded part? (Take © as—7)

A. 4928cm? A. 4928cm?
B. 2464cm? B. 2464cm?
C. 1232cm? C. 1232cm?
D. 88cm? D. 88cm?
750mL 750mL

23. According to the above figures, what 23135 Bl o - B el f A7
is the volume of one (7)? 59
A. 30cm? A. 30cm?
B. 50cm?® B. 50cm?®
C. 60cm? C. 60cm3
D. 87.5cm? D. 87.5cm3

B FTALAIH B 5 () 6) 13



24, The distance between Amy’s home
and the technology park was 900m.
In the morning, she took 10 minutes
to walk to the technology park,
which was 2 minutes more than that
of in the afternoon. What was her
average walking speed to the

technology park in the afternoon?

1
A. 18m/s

1

B. 12m/s
7

C. 18m/s

D. 15m/s

24. B Rge o Bl 2 B ehp AR AL
O00m > +F = * 7 10 & 45 (7
;.J,fﬂ,ﬁ;;}g] » B LT &

A. 1zm/s
B. 1§m/s
7
C. 18m/s

D. 15m/s

14



James’ Tavel Graph

£ 5 {7 A2 B
Pier 500
RS B

800
B 700
2 E 600
T o 500
s 400
A 300
200
100
Factory 0

1 B 13:00 13:05 13:10 13:15 13:20 13:25 13:30 13:35 13:40 13:45

Time
P Y
25. According to the above graph, 25. 1395 F B > T 5| URIE [y ik H
which of the following & FEen?
descriptions was/were correct?
|. James walked to the pier from I £ % % 5.4km/henT 3a3g F g
the factory with an average 1 AT B ER o
speed of 5.4km/h.

Il £ %% 2.16km/he-T 35:¢ 5

I1. James returned the factory from R
TEFBERA_ ™ 1 Jg ©

the pier with an average speed

of 2.16km/h.
. &% BB epieq 7 254 45 -
I11. James stayed at the pier for 25 A

minutes. A 7l
A. lonly B.7 3121l
B. I and Il only C. =3 =1l
C. Il and Il only D.I~11 2 1
D. I, Iland Il

BATALAIH B 5 (] 6) 15



Sales of Breads in a Bakery

FRe LB A agme

5 D Croissant
) - ER
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5 4
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) = Pineapple Bun
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E i 3 | yﬂ; ﬁ 5
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FU\-/ B [*."q i
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Qa |
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0.) |
I
wnn -

0
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Month
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26. According to the above graph, how
many more / fewer croissants did the

bakery sell in October than in August?

A. 250 croissants fewer
B. 250 croissants more

C. 500 croissants fewer
D. 500 croissants more

26. ’Fl%_}rﬁ],ig %ﬂﬂﬁ"iﬁ.

R CIVES ¥ ¥

A. 2 250%
B. % 250i%
C. >5007®
D. % 500 i

16



Number of Friuts Sold

k&G Ak R i

Orange
a3

B

25%

Peach
R 3

10%

Apple
¥

27. A fruit shop sold 420 fruits.
According to the chart above, how
many the two best-selling fruits

were sold 1n total?

A. 378
B. 273
C. 231
D. 168

Pear
H
35%

27. - Bk 0 420 Bk o 2
Pt B A A R R

EEEY 3

A. 378
B. 273
C. 231
D. 168

17



Scores of Sasa and Ella in a Game
ZRfrs B hiEiY HEL

6

5

Score (in hundred points)
88 (F 2)
(OS]

Sasa Ella
Ik &%
28. With reference to the above two bar
charts, which of the following is
correct?

A. Compound bar chart should
be used to compare their
scores.

4
B. The score of Ella was 5 of that

of Annie.
C. The score of Sasa was 100

points more than that of Annie.

D. The score of Sue was 2 times
that of Ella.

Scores of Sue and Annie in a Game
RF o E B i 2

1200

1000

o0
=
o

(o))
S
o

Score (points)
(7 (5)

400

200

Sue Annie

e

28. ¥t b A BARAS R 0 1T U

>

AN FEn?

A %% AT & BB R

4P e A o

4
B. £ 28 & {;ggmg .

KA




29. The shop assistant put every 20 bottles

of coke on a floor of a shelf. He filled
up y floors and 11 bottles of coke
were left. How many bottles of coke

were there?
A. 20y
B. 20y—11
C.20y+11

D. y+220

29. ji B #2057 Bk b f % ch-
Kooy ko AT 11HY

. ' .
-‘;:7@;120_4,:‘_»};-‘;:7@;_\2

5L

A. 20y

B. 20y—11
C.20y+11
D. y+220

30. The breakfast shop sold m sandwiches

in the afternoon. In the morning, 280
sandwiches were sold, which was 10
sandwiches fewer than 4 times of the
number of sandwiches sold in the

afternoon. Which of the following

equations can find out the value of m ?

A %—10 = 280
m
4

C.4m+10 =280
D.4m—10 =280

B. 7+10=280

30 5 E AT EE A m B 2o
FE 280 B s T
Zend B Q0B o LT IR- iE

RV N meaE ?

m
n_
B. %+10 = 280

A. 10 =280

C.4m+10 =280
D.4m—10 =280

End of Section A

B2

19



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section, unless specified
otherwise.

z 3 (40 &)
R P o G AU R AL
B RS A R B

31. (a) Mr Chan decided to rlun for 30km
a week. He ran for 8Z km and

6% km in the first day and the

second day respectively. In the

remaining days, how long
did he need to run at least?
[4 marks]

(b) Mr Chan ran for 240 minutes
and 320 minutes last week and
this week respectively. He
consumed 480 kilocalories of
energy for each 30 minutes
running. In these two weeks,
how many kilocalories of energy
did Mr Chan consume by
running in total? [4 marks]

3l.(@ A4 iz — Bhhsah
30km e 5 &% - X fok =
1
SSAR SR S 8kaﬂfr

3
61—0kmo L AT I F

@t R 50 7 [44]

(o) Rk 4 1 B & i foin B & #
i u] §a 9 2404 45103204 48 o
© & g2 304 4 45480+
HE o bz BEY > ML
PR R P8 U

[4%]

20



32. (a) Carol had 5 packs of sticks.
There were 42 sticks in each

1
pack and 6 of them were 20cm

in length. How many sticks with
20cm in length did she have?
(Give the answer only) [2 marks]

(b) Carol wanted to use the sticks
with 20cm to form a rhombus. On
the answer sheet, complete this

rhombus. [2 marks]

20cm ° 4 3 & & &_20cm

S 52 (R AR
HER) [2 4]
(b) &% E * 20cm 9%

- BFEA B F AR A
i ,;{gcigf@;gfﬂ;o[z/;]

33. (a) Aaron spent x hours on painting

course and 30 hours on cleaning
the beach every month. In last
6 months, he spent 276 hours
in total on painting course and
cleaning the beach. How long
did he spend on painting course
every month? (Use equation
to solve the problem and show

working steps) [4 marks]

33.(a) FBE B R Hdkx ] PE
foiF 4 30 /) P o B4 6
i 2 276 | pF
FEFIA AN E B
P EEET R P OER?
(F* > A5 3 8

# %)

) £ B
[4~]

21



Environmental Donation Scheme
Tg A48 A3 3
After the donor’s donation is deducted by $200, the organization will use
90% of the remaining donation on the work of environmental protection.
IRE 3 O AR 2 $200 15 0 PB4 € M- EE e 00% F TR IRk iF
F o

33. (b) Aaron donated $900 to the 33. (b) FIFL w T ReZ B HE 48 B 0
environmental organization. He $900 o & 23 5 F¥yp 0 F M E
believed that more than $650 3 pe adE P § % 308650
from his donation would be used gFNFELIT G L0 ?
on the work of environmental N ER: A [4 & ]

protection according to the above
donation scheme. Do you agree?

Explain. [4 marks]

BATALAH X () 6) 22



Number of Online Users of a Internet Forum

XidHh A A dk

400
+
Maximum Online Users
B A A B
g 0 — . .
) Minimum Online Users
£ B R B
S~ 200
S # s
5
O
E
= 100 .
Z
0 | ] ] | | ]
January February March  April May June
- B B > ¥ 7 =1
Month
LI

34. (a) According to the above graph, 34. (a) 139 H B > RB P i b B

which month had the greatest A Fofrd b A A Holp £

difference between the Maximum RS 2MMAEL 2R ER D

online users and Minimum online Fx) [2 4]

users? What was the difference?
(Give the answer only)

[2 marks]
(b) According to the above graph, (b) IR > d w220
what was the average of the Bl AR e TioE A S

%
Maximum online users from s 9 [4 & ]

April to June? [4 marks]

BATALAIH B 5 (] 6) 23



35. Figure 1 is the net of Figure 2. 35. Bl- E_Bl- B A Bk o

O

132cm g
Figure 2
Figure 1 B -
@._
(a) What is the radius of the grey (@) & ¢ Flenxjm g %> 9
22 L 22
circle? (take as7) [4 marks] (B-1 & 7) [4 5]
Figure 3
Bz
(b) As shown in Figure 3, a cross (b) Bl= #7171 » v & 4ighr d) -
section being parallel to the BLTENROER o B
base is cut from a quadrilateral o A ALKk U A ke
pyramid. What is the shape of <l EFfoRAER 2 [2 4]

this cross section? Is the shape

and size of this cross section

the same as that of the base?
[2 marks]

B AT 5 (] 6) 24



36. Alisa wants to buy gift boxes and 36. 23 BT AAY &£ fogpd Ko
colored paper.

12cm
10cm
20cm
(a) The above figure is the gift box (a) FPRIE L BY iy £ o
Alisa wants to buy. What is the TR £ R E S 2
volume of this gift box? [42]
[4 marks]
Gift boxes Price Color Paper Price
Wi g & Bré A &
1;:;:; $36.8 100cm? $1.2
Area per piece
o1i paper not over 400cm? $2.5
& 3 NG fE
* A2 i
900cm? $3.5
(b) Alisa bought 3 gift boxes and 8 (b) LR 3B £ -8
pieces of color paper with area w ff & 2.625cm?epE 4
of 625cm? each. According to Moo ffp t Bl & f 3R
the above table, how much 589 [44]
should she pay? [4 marks]

End of Test Paper
PRS2

BATALAH X () 6) 25



